You wish to find the root of the equation x*=2-Inx using Newton’s Method. SCORE;: /7 PTS

[a] Using the Intermediate Value Theorem, between which two consecutive integers must the root lie ?

[) 2

[b] If your first approximation of the root is |, what is the expression for the second approximation X, in terms of x, ?

Do NOT use for £/ notation.
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[e] Let x, be the lesser integer from [a]. Write down the sequence of approximations for the root that Newton’s method generates,
Do NOT round off vour answers.
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X = COos2f
Eliminate the parameter to find a Cartesian equation of the parametric curve s SCORE: /4 PTS
¥ =sin

Your final answer must NOT use trigonometric nor inverse trigonometric functions,
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You wish to use Newton’s method on the graph of f below, with the first approximation Xx,= 2, to find theroot SCORE:

/4 PTS

of the equation f (x) = 0. Find the approximations X, and x, graphically. (This shows why a good first approximation is important.)

. x=6t"—t-1
Consider the parametric curve —— . SCORE:
N y=2t"%t
You may use your calculator to check vour answers, but your answers must be justified using calculus and algebra.
[a] Find the equation of the tangent line to the curve at the pomt (6 3)
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b]  Find

at the point (6, 3), and determine if the graph is concave up or down at that point.
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[c]r Find the co-ordinates of all points where the tangent line is vertical.
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[d] Find the co-ordinates of all points where the tangent'line is horizontal.
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